

Letting:

08200512

Florida Department of Transportation

Vendor Ranking

Call Order: 003 Contract: E8S52-R0

Page 1 of 1

District: Turnpike Counties: TURNPIKE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 19077865204 (*)

Contract Desc: WILDFLOWER INSTALLATION & MAINTENANCE - TURNPIKE WIDE

May 12, 2020 02:30 PM

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AIRBOAT ADDICTS, INC.	Responsive	Winning bid	\$131,575.00	100.00% Intent to AWARD
2	CREWS CUSTOM SERVICES, INC.	Responsive	Non-Winning Bid	\$195,600.00	148.66%
3	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$333,000.00	253.09%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JUNE 9, 2020 AT 4:00 PM



Florida Department of Transportation

Tabulation of Bids

Letting: 08200512 May 12, 2020 **Call Order:** 003 **Contract:** E8S52-R0

District: Turnpike Counties: TURNPIKE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 19077865204 (*)

Contract Descr: WILDFLOWER INSTALLATION & MAINTENANCE - TURNPIKE WIDE

The work specified in this contract consists of providing all labor, materials, equipment, tools, transportation and incidentals required to prepare, plant, and maintain various wildflower areas. The work does not include providing wildflower seed, which the Department will supply. All planting sites will be field marked by the Department and maps will accompany the Work Documents issued. Work shall be geographically open to the entire Florida Turnpike System: Florida's Turnpike mainline, Homestead Extension Florida's Turnpike, Sawgrass Expressway, Veterans Expressway, Beachline Expressway, Suncoast Parkway, Polk Parkway, Seminole Expressway, Western Beltway, East-West Expressway, State Road 407 and Southern Connector.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

Florida Department of Agriculture Commercial Applicator's license with the categories of licensure in Right-of-Way Pest Control is required to bid for this contract. Submit a copy of current certificates with the bid proposal package.

Guidance for establishment and management of Wildflower Areas can be found in the Department's Guide for Roadside Wildflower Management, available as a supplement to A Guide for Roadside Vegetation Management.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternate Item Description	Alternate Quantity Units		(1) AIRBOAT ADDICTS, INC.		(2) CREWS CUSTOM SERVICES, INC.		(3) MIDWESTERN CONSTRUCTION, INC	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (MAINTENANCE SUPPORT SERVICES (MH								
0005 E104 4 1 MOWING (REGULAR/LARGE MACHINE)	150.000 E AC	40.00000	6,000.00	10.00000	1,500.00	200.00000	30,000.00	
0010 E104 4 3 MOWING (SMALL MACHINE)	100.000 AC	42.50000	4,250.00	50.00000	5,000.00	150.00000	15,000.00	

Page 1 of 3



Florida Department of Transportation

Tabulation of Bids

Page 2 of 3

Letting: 08200512	May 12, 2020	Cal	l Order: 003		Contract:	E8S52-R0		
Line No / Item ID Alternate Quantity Item Description Units		(1) AIRBOAT ADDICTS, INC.		(2) CREWS CUSTOM SERVICES, INC.		(3) MIDWESTERN CONSTRUCTION, INC		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (MAINTENANCE SUPPORT SERVICES (MH								
0015 E110 30 LITTER REMOVAL	150.000 AC	1.00000	150.00	10.00000	1,500.00	100.00000	15,000.00	
0020 E575 2 SOIL LAYER MATERIAL- IMPORTED MATERIAL	750.000 CY	20.00000	15,000.00	20.00000	15,000.00	100.00000	75,000.00	
0025 E580 4 1 WILDFLOWER SEED INSTALLATION	56.000 N AC	1,650.00000	92,400.00	2,500.00000	140,000.00	1,000.00000	56,000.00	
0030 E580 4 2 WILDFLOWER MAINTENANCE	175.000 AC	65.00000	11,375.00	100.00000	17,500.00	750.00000	131,250.00	
0035 E580337 2 HERBICIDE (STRIP APPLICATION)	150.000 AC	15.00000	2,250.00	100.00000	15,000.00	65.00000	9,750.00	
0040 E580337 3 HERBICIDE (SPOT APPLICATION < SF)	1,000.000 100 SF	0.15000	150.00	0.10000	100.00	1.00000	1,000.00	
0001 MAINTENANCE SUPPORT S SERVICES (MH)		\$131,575.00 [°]		\$195,600.00 [°]		\$333,000.00		
Contract Gr	rand Totals:		\$131,575.00		\$195,600.00		333,000.00	



Florida Department of Transportation

Tabulation of Bids

Page 3 of 3

Letting: 08200512 May 12, 2020 **Call Order:** 003 **Contract:** E8S52-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.